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@ —6ax - 2bx = —6x(a + 2b)
@ ax®>+ay=a(x+y)
® a(x+y)-b(x+y)=(x+y)—ab
((4)—4x2 +16y% = —4(x + 2y) (x - 2y)
® x(2a-b) +2y(2a—b) —z(2a—b) = (2a - b)(x - 2y) — z
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® -2x(3a + b)

@ a(x* +y)

® (x+y)(a-b)
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@ x+ 3y @2x+4y
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2x2 + 10xy + my? = (x + 3y)(2x + ky)

= 2x> + (k+ 6)y + 3ky”
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X -2x-8=(x+2)(x—4)

4x2 +5x -6 = (4x - 3)(x + 2)
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3o YFE AT YA S F2 (x-4) + (4x-3) =
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@ (x-5)(x+2) @ (x-3)(x+6)
® (x+5)(x-2) @ (x-1)(x+10)
® (x-5)(x-2)

- 9x — 10 A A= -10 = 9HA Bk,
x% - 3x— 18 A x 9] A4 -3 & 9| B3ttt
o7 o] &AL x2 - 3x - 10 = (x — 5)(x + 2)




7. a+24x+b = (3x+c)? Do, S a, b, ¢ O] & AR FHHA?

@ a=9,b=16, c=—4 @ a=9,b=8, c=4
®a=9,b=16, c=2 @a:9,b=16,C=4

® a=3,b=-8,c=4

~&B

(3x 4+ ¢)? = 9x% + 6cx + 2

a=9
6c=24, c=14
b=c% b=16

a=9 b=16, c=4
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Vi=a-129 FHAE AFNA x = (a—1)?
Va2 +2a+1+ Va?2 —6a+9

= V{a+17+ /(a-3)

=la+ 1|+ |a - 3|

—a+1-a+3=4
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4(a+b) =80°1B= a+b=20
a*> = b* = 100912 & (a + b)(a - b) = 100
a-b=>5

4(a-b) =4x5=20
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@ 4x% +12x+9 = (2x +3)?
©) 1)c2+)c+1—<1x+1>2
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@ 3x* +6x+3=3(x+1)?

® x*+10x+25 = (x +5)>
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| oy

o & o

=ax+b 2 YEFo] A o ab

B 6x2 —b5x—4
A~ 4x+2
(2x+1)(3x—4)
4x + 2
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2(2x + 1)

_ 3x-—4

=ax+b







